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Questio#1(36%) Prove or disprove ;fz;ﬂ of the following statements
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c)if R and S are cqmvalence relations on A then RU.S is an equwalence rela@ b
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e)If R and S equivalence relations on A then R o8 is an equivalence relations on A
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Question#2(14%) Let A={a,b;c} , define R Lon X=P(A) as follows : : ww 7 !
R—{@ D) e XxX : number of elements of C number of elements of D}
a)Show that R is an equlvalence relation onX
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! Queétion #4(10%) Use the graph of the functions f, and g
| to indicate on the graph
the value of (f og) (x)} and (goh)(x)
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Question #5(15%) Let A, B, be nonempty set and
letf:A — B, g:B — C befunctions.
a) Show that if gof is.onto theng:B — C isonto.
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Question #6(15%) Let A, B, C be nonempty set and '
letf:A —» B, g:B — C befunctions. ,
a) Show that if £, g are one to one functions then gof: A — C i¢ one to one T ===
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c) Show that the converse of (a) is not true
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